Geometry, 11.1: Area - Rectangles

Measure length => M tance
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Measure space inside a closed figure => S¥za
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#2. Find the area of a square #3. Find the area
with diagonal of 10
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| #4 The area of the rectangle is 100. #5. The area of the rectangie i§100.
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- _F_’ractice:
- #1. Find the area. #2. Area = 100. Find x. #3. Area = 100.

Find y and the perimeter.
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#4 A cross section of a steel |-beam is shown. Assume right angles ahd-éyrnrﬁ'etry from =
appearances ‘Find the area of the cross section. B T I
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#5 A rectangular picture measures 12 cm by 30 cm. It is mounted in a frame 2 cm wide.
Fmd the area of the frame. ST
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One more example:
The sides of a rectangle of

fe are in a ratio 3:5, and the rectangle's area is 135 sqm.

Find the dimensions of the rectangie ¥ .8
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¢ Geometry, 11.2: Area — Parallelograms and Triangles

Area of a parallelogram = é 3]'; ( é@gg,ﬂ 4 !’7@;?}?’? _..L_>
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#5. 'Fin'_d-__the base of a parallelogram of height 3 anid area 42.
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#6 Fmd the areas of the triangles.

'#7 Fmd the areas of the triangies
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.- ‘Geometry, 11.3: Area— Trapezoids

2 ways to find the area of a trapezoid:

'Pleces way
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Example.-..Flnd the area

Practlce
#1 Fmd the area

Median of a Trapezcud = line connecting midpoints of the two non- paréllel S|des
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#2 Fmd he area
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Two Formulas using median of a trapezoid:
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The helght of a trapezmd is 10, and the trapezozd S area s 130 If one base is 15 flnd the other
base . S :
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The consecutlve SIdes of an isosceles trapezoid are in the ratio of 2:5:10:5 and the trapezmd S
perimeter is 44. Find the area of the trapezoid.
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Geometry, 11.4: Area — Kite and Rhombus
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Find the area of a rhombus whose perimeter - Given: ABCD is a kite.

o £BAD is a right £.
- 1s_.2.0. .cm anc.l_whoifa longer diagonal is 8. BD = 10, BC = 18

Find: The area of ABCD

dy =B
" Find the area.

25

=




| .Geometry, 11.5: Area — Regular Polygons

A special formula for areas of equilateral triangles:

© A= b

" Regular Polygon Terms...
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Areaofa regular polygon:
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- Examples/Practice: Find the area. - e L
- Regular hexagon, perimeter = 36

Regular hexagon, side = 8.
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More examples

o Find the area of an' equﬂateral trlangle 1f the radius of its
{/ inscribed c:rcle IS 3 o :

" Find the side of an equilateral_t_ﬁahg!e whose area is 93 sq. km. . -
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Area of a circle:
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#4 Fmd the area of circle Wlth radius = 4.
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. More examples: S
. Find the radius of a cwcie wsth area of 1697
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Find the area of one sector:




Geometry, 11.7: Area — Ratios of Areas

How How
Small Big much much
shape shape Scale factor  biggeris  biggeris
side side (ratio of sides) perimeter? arca?
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More examples: Find the ratio of the areas, and the e ratio of the perimeters, of each pair
of similar figures. B e M

—

0 ¢ 2

S T
s ot f@m %4;4; -

AT S S
. {




Examples/Practice:
Find the ratio of the area of the shaded
triangle to the area of the whole triangle.
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A median of a triangle divides the triangle into 2 triangles with @;m—vg areas.

Example/Practice:

3 Given; PM is a median.
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5, If the ratio of the areas of two similar polygons is 9:16, find the ratio of a pair of correspondlng

altitudes. & }
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~ Geometry, 11.8: Area — Hero and Brahmagupta area formulas

" Could we find the area of this triangle? . —flo angles
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- Brahmagupta's formula for inscribed {cyclic) quadrilateral areas:

A gosss =5 ) D)5~ (3- ) O\

o a+b+c+d
where s = semiperimeter = --—-——-§— /
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